Time : 3 Hours Marks : 160
Instructions :

(1)
(ii)

'Each question carries one mark.

B8 PH% w8 Srdy), Sod.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1,2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

S5 28 ©8 PHSH s T8S" H0BS ISreIind INED TIV Lrded
®os 1, 2,3 8¢ 4 3 ayd OMR 38058 Higsns® @Hg SowohodS Dopgiie
288D ay/ers o roncd DY) GIHETACD JoDSBH.

BOTANY
Protein molecules that form huge pores in the membranes of the plastids, mitochondria
and some bacteria are called as
(1) Stomata (2) Porins (3) Coherin -  (4) Subarins
FBe0, PE'oBcir HB0h ) erfbcire fndimrod* @5 vaes DY borrod
DEYEHZon. DBI Dot
(1) SHgdoigren (2) omen (3) b (4) Ho288

A prerequisite in the tissue culture experiments is to sterilize the culture medium in an
autoclave to prevent the microbial contamination

The desired autoclaving conditions set are: -

(1) 121 °C, 30 pounds of pressure for 15 min

(2) 121 °C, 15 pounds of pressure for 30 min

(3) 121 °C, 15 pounds of pressure for 15 min

(4) 130 °C, 30 pounds of pressure for 30 min

Soare 53 PArmod® FiE cried) siiESs’ rgds dirdo Bohdo vd vIdso.
830" & FoPdcdh HOREey sTd

(1) 121 °C, 30 Zrod 58550 15 ddodre 565

(2) 121°C, 15 Zrod Ha550 30 ddodre 568

(3) 121 °C, 15 2og Hd55» 15 3o 36

(4) 130 °C, 30 Zrod Hds50 30 ddodre 368
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3. The phenomenon of replacement of sexual reproduction with asexual reproduction is called 6. In rac
(1) Vivipary (2)  Apomixis inflore
(3) Karyogamy (4) Syngamy patterr
Bohs H&gd8 ateom wBohs PEdgEE =00 G)ithicsrd) JSodr? (1) ¢
(1) Daard (2) wodrl 2dsSn/ePFNER (3) (¢
(3) So|8% Hodrrdn (4) Hoosng Hodrisn & g
4. Match the following lists Py,
List - I . List-1I (1) 3
A) Legume I)  Endosperm
B) Drupe II)  Juicy succulent placental hairs of endocarp @B) &
C) Caryopsis ) Cotyledons -_—
D) Hesperidium [V) Succulent perianth 7. Which
V) Mesocarp (1) o
1Bod HB8od 2808y 08 (3) y
5438 - 1 538 - 11 _ & god
A) ﬁsaa‘dg DOO . D) woﬁuﬁﬁ&d;ﬁm w3
B) Bo¥ fo Jewo [[) wodipefidod™ ddcind, o068 1) «
wodagsd STen 3) y
C) 553 daufo I dHadew et 0
D) Trdybdoonn IV) &5giad Sederen 8.  InEMFE
: V) Hodgees 850 D F
The correct match is : M P
28 908 ad 1 m 1,
A G D ’

(1) [ \Y nn W 3
@ m o vV N EMP3S
() I nm D @
o O O ¢ a5
5. Catabolism of long chain fatty acids occur in ' m 1,
(1) Glyoxysomes (2) Peroxysomes v) 3

(3) Carboxysomes (4) Ribosomes : Th
Da Feoto 6 size IO IE 26H? coor
(1) BsbsSes 2) bogRSes Lok
(3) songEtSien | (4) BS*Foen (1) v
Rough Work Rough Work
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scalled = 6.

locarp

In racemose type of inflorescence, the subtype that exhibits all the flowers in the
inflorescence are brought to the same height due to varied lengths of the pedicels and this
pattern is called as

(1) Capitulum or head (2) Simpleumbel

(3) Corymb (4) Compound umbel

& SES TS QA Daghod’ PhSoores I IH FEHS' Sodbo S0
YAoR) 28 INS' 850 Gobrow. HIV Iotrd?

(1) 2438 I dargdo Bor sgabgo (2) 8¢ rogyahon

(3) 503D (4) o8 rovgysw

ststatal:]

Which one of the following RNA polymerase subunits recognise and binds to promoter?
(1) o -subunit (2) P -subunit

(3) v-subunit (4) o -subunit

& 8od RNA 93004 sdphirerod® J ¢ddsradn Harbss Hod ods* 20880
oo

(1) o-eadpdrao (2) B -adpdrso

(3) y-&d@HSrw0 (4) o-a6ddsSrao

In EMP pathway, ATP is directly formed in the conversion of:

) Fructose 1, 6 - bisphosphate to glyceraldehyde - 3 - phosphate
IT)  Phospheenolpyruvate to pyruvic acid

Il) 1, 3-bisphosphoglyceric acid to 3 - phosphoglyceric acid

IV) 3 -phosphoglyceric acid to 2 - phosphoglycerate

EMP 5¢50&5* & (§od 8¢ 28 26)8557d0 ATP Sodde adhHeos
) @§5 1,605 @*'Sn::,é;u 0D Bdo s -3 - a'i"'fﬁt.m

1) é'ﬂ‘&éaa‘*ﬁ DErEE Sood ErIE w0

m 1,3 ﬂﬁ&%ﬁﬁﬂg @30 ool 3 - #ﬁ'ﬁ;ﬁéﬂg @300

vy 3 &Q‘JQK}EE sio dood 2 - #@‘Jﬁfaﬁéﬁ

The correct combination is:

28 SO0 =2 ¢

(1) I (2) LIV (3) 10,1 (4) LI

AM 2017 " S2
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Assertion (A) : One should encourage local clubs or school groups to build artificial
habitats such as butterfly gardens, bee boards and bee boxes.

Reason(R):  These measures are necessary to protect pollinators.

(1) Both (A)and (R) are true, (R) is the correct explanation of (A)

(2) Both{A)and (R) are true, but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

Ao (A):  FIE Joged’ FETous’ besEles s'bod 838K Dodso 5%
&d@rhod Jorw, Ve TEE) (FEroad.

sdmo (R): & srifiden Sood Hodd), SHfobsded ol widdo

(1) (A) %8080 (R)Bodr $8GkSE, (R) edd (A) 5 H0605 D580

(2) (A)Ss0osw (R)Boder 586SS, 570 (R) @l (A) $ 20808 dbn 5

(3) (A)%Bg0s56 57a (R) 82y

(4) (A) &y 59 (R) S0058

10.

Match the following lists:

List - I List- I
A) SyntheticAuxins I)  Synthesised in large amounts in senescing tissues and
ripening fruits
B) ABA II) Delays leaf senescence
C) Gibberellins Ill) Increases the length of the sugarcane stem
D) Ethylene IV)  Used to kill dicotyledonous weeds, does not affect mature

monocotyledonous plants
V) Stimulates the closure of stomata

ol SBeodn 28380 : _ .
S8 - 1 588 - 11
A) Hoiud wfjSen ) &gegis 'Sy Emarerod’ S0da%n S0 Bod
derodt J5 S Sbdracd® Sodhn adhdod

B) ABA ) 3¢ sy sodgnisod
C) =2xdese ) D& sodo FEH 6RdesS" S'Eydadiod
D) 2888 V) 856% da fwd Infod FiSo Bohadd Thad,

HDHES DESY Dz TG o D IS0l HerSo Srhi
V) &€ Cogren SwrdofSor) (w0okn0d
The correct match is :

ad S99 ad

(1) $ é ? II:I]
(2) 1

2D O G

AM 2017. 6-A Sz

11. Usec
partic

(1) ]
(3) 1
&8 %o
LIRS
(1) =
3) I

12. Inaph
allele i

(1) C
(3) T
JAN
sl 1
ooty
(1) %
(3) ¢

13. Comme
laboratc

(1) La
(3) Ge
oD Se
ardoig
(1) er:
(3) 20
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3

Use of a complementary RNA molecule to prevent another mRNA molecule from
participating in translation there by preventing the expression of a gene is termed as:

(1) Biopiracy (2) RNA interference

(3) DNA finger printing (4) ' Gene therapy _

28 Bords RNA vmodd ead@riod 3678 mRNA wmodid efiardod® &' Sdabioa
s 2y Sg88ded 19 o B Ddotrd

(1) a&»28d (2) RNA 5g888e082
(3) DNA 38 Sue (4) adg D84
12.  In a phenomenon where heterozygotes have features of both the homozygotes, that is, an
allele is neither dominant nor recessive to the other. Such a phenomenon is termed as:
(1) Codominance (2) Pleiotropy
(3) Test cross ' (4) Dominance
DASe cdufprer 238 Sdo By, Dok vEsrol E)fgdrdos® Hrbow, wod
cSuMDEonen wiTFEd atrddand) 50 wodgd da2d) 5 S, & Eyfisdaird)
Q0oL ~
(1) dabrgdsisn (2) i Gersd
(3) %6z HoEdeadw (4) a2irdadise
13, Commercial product “Agar” which is used in “ice creams™ and to grow microbes in the
laboratory is extracted from
(1) Laminaria and Polysiphonia (2) Porphyra and Sargassum
(3) Gelidium and Gracilaria (4) Marchantia and Polytrichum
pREDe Soirbes’ Hbosn PAriTeS’ SriEYe DodEcE o FBaghdor ¢HArKSE
2808 28 Lod w&HBoHdod
(1) oroJocir Sodckn SOpPFAaE>r (2) FBYor Sobatn BIHR
(3) BOAcH S Hdcsw rhBbar (4) Socopohcir Sobcin FOBES
Rough Work
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(A]

14. Assertion (A): Vessels are the main water transporting elements and devoid of protoplasn
Sieve tube elements are long tube-like structures, arranged longitudinally

and are associated with the companion cells

(1) Both(A)and (R)are true, (R) is the correct explanation of (A)

(2) Both(A)and (R) are true, but (R) is not the correct exp]anatmn of (A)
(3) (A)istrue but (R)is false

(4) (A)is false but (R) is true
Afydo (A):

Reason (R):

sdo (R) :

o6 Teros Q8D HR6n T BES Sroses 00 BS' 2SDerPo

TU T FEJT Thow God Ao een. ad el HEDST wHd
2iriered’ 500 Godtran

(1) (A) 208a30 (R)Todr 5050s3, (R) 3b (A) S 50808 S0

(2) (A) SoBasn (R)Todor $8G0ST, 570 (R) 038 (A) & 0503 IS8 57

(3) (A)2850&8 579 (R) 82y

(4) (A)gdy 52 (R) 205058

16. Assertion

Reason (R)
(1) Bothl
(2) Both
(3) (A)is
(4) (A)is
ayde (A)
s*es0 (R)
(1) (A)a
(2) (A)s
(3) (A)s
(4) - (A)

15,

Assertion (A) : Heartwood does not comprise dead elements without any lignified walls.
The peripheral region of the secondary Xylem is lighter in colour and is
involved in the conduction of water and minerals from root to leaf.
(1) Both(A)and (R)are true, (R) is the correct explanation of (A)

(2) Both(A)and (R) are true, but (R) is not the correct f:xplanatlon of (A)

(3) . (A)istrue, but (R) 1s false

(4) (A)is false, but (R) is true

AYHEo (A):

Reason (R):

s*do (R) :

@oe:icgr:i:éj R)Q;'J Soresten 0805w BQ}S wliom £9AS Rded £0A

8o TP I grio B¢ SPos® olnod. ad IKH Hod HE s
201 A, pldere PI0ed" FSotwod

(1) (A) 5805 (R)Bodr 85353, (R) 036 (A) % $0GS 2566

(2) (A) 5005 (R) Bodr 386053, 59 (R) 038 (A) & 608 D580

(3) (A) 26038 52 (R) 85y

@) (A) 88y 52 (R) 06058
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and miner
(1) Vel
3&55) 5
Byt
(1) [we

18. Matchth

Lis
A) Rit
B) Fn
C) Al
D) Fr
The con
8ol ;':«!i'

8
A) 2
B) @
C) =
D) &
The cor
=8 20

(1)
(2)
(3)
(4)

S2

————
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16.

Assertion (A) : Exons are coding sequences of a DNA.

Reason(R): Intervening sequences appear in mature RNA.

(1) Both(A)and (R) are true, (R) is the correct explanation of (A)

(2) Both(A)and (R) are true, but (R) is not correct explanation of (A)
(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

Mo (A): DNA &* Sggfodloy edEsiros JsmSa wolrds
g0 (R): 5838 RNA &° wodorobh sEsdren Edh0&%

(1) (A)So8c50 (R)Bodr 386053, (R) 638 (A) K 56508 58w
(2) (A)50805 (R)Bodr $65053, 53 (R) ©38 (A) % H0508 D580 56
(3) (A)D565086 5 (R) 8y

(4) - (A) 83y 2 (R) $BG058

Some plants like Viscum and Striga send roots into the xylem of the host plant to get water
and minerals. Such roots are called as

(1) Velamenroots (2) Nodularroots (3) Stilt roots (4) Haustorial roots
2,5 Soboke Fowrerod £3) ng e HE, P el FRoSEIE ;8 355 w8
THIS'VE DobFow. verod I Aok dh?

(1) 2025 38 (2) w8:3% () &8 3% (4) SFocHS 36

18.

Match the following lists.

List- I List- 1T
A) Ribozyme Lac operon
B) Friedrich Meischer DNA as genetic material
C) Alfred Hershey and Martha Chase |, Catalytic RNA molecule
D) Francois-Jacob DNA is acidic substance
The correct match is:
Bod dPsod 2dHG)0b !

SES®

588 - 1 S5 - 11
A) 35BS D o€ ados
B) (&5 Soonis | ) DNAes alog sogo
0 wd@E wrf Hocsw Sro; B8 ) @68 RNA w3
D) | Zosrcnd =ES IV) DNA-z¥ LY cﬁa‘é‘&n E08 Sotinoh
The correct match is:
28 D08 24 :

A B C

(1) I I\ I I
2) I QS VA
3) N I m 1l
) 1 il I v

S
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19. Match the following lists:
List-1
A) CrylAc
B) Agrobacterium
C) Male sterility
D) CrylAb

Bod Ddfsoss 283808 :

5636 - 1
A) CrylAc
B) e@Ear§ocio
C) A Sodgddw
D) CrylAb

The correct match is:

20 W0 24 ¢

A° B C
n v o1
@l m I I
g m v I
(49 v m n

— < < 30U

S dHE=

S 4 58+

List-IT

Corn borer
Transgenic Brassica
Ti plasmud

Cotton bollworms
Transposon

SISERI

5°5) 5°68

adog HOIBE s
Tiaros

RE erdad)
Erdare

20. Many carpels are free and each carpel of apocarpous gynoecium develops into a fruitlet in

(1) Oryza sativa
(3) Annona squamosa

(2) Acaciaarabica
(4) Vitis vinifera

82e5" w3 Doderen 'ﬁaszﬁgn'cﬁr, wHoaingomrsy wod P8 Jod¥o o DS Hoom

@5};5;,% Dotodaoh
(1) ed= 28BS
(3) sl e

(2) wshodr wods
(4) 288 20

Rough Work
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2. Assertion (A): In CAM plants, carbondioxide is trapped by highly efficient PEP
carboxylase.
Reason (R): - CAM plants do not fix carbondioxide during night.
(1) Both (A)and (R) are true, (R) is the correct explanation of (A)
(2) Both (A)and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
WHgo (A): CAMIngos' ©hE dfgSodiosd PEP songBs, CO, S nobohdosd
s*dmo (R) : CAM S5 o oo@ yos' CO, Tos 200
(1) (A) So80%n (R)Bodr H8R0d3, (R) 638 (A) % H506308 D88
(2) (A) 00053 (R)Bodr 5060853, 573 (R) wdd (A) £ #6605 D88 5
(3) (A) %8085 57 (R) 83y
(4) (A) 82y 5 (R) 20058
22. Initiation of lateral roots and vascular cambium during the secondary growth takes place in
(1) Cortex (2) Endodermis
(3) Epidermis (4) Pericycle
BrBch RS Iy IE Posl S8 Sodasw E.erazg §erS® Dydbo & Lo Sod
2ie0d.
(1) Seopeodn (2) sosHo S0
(3) erdrgHsSo (4) DHoSESw
Rough Work
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23. Ildentify the names of the structures in the right order "

A B C D
(|ZDDH ~t|::H2 OH (I:DUH CH;—(CH,),4—COOH
H—?-NH; (|2H—{)H H—{l'J—NHz

CH,—OH CH;

= D
Alanin Fatty acid
Fatty acid Alanine
(3) Alanine Fatty acid Serine Glycerol
(4) Fattyacid Alanine Glycerol Serine
& (Bob dopre DES ¥d FESos® HBoKod ¢
A B G D
(13001-1 (I:Hz -OH f].‘UDH CH;—(CH,)4 - COOH
H-C-NH,; (IZH—DH H-C-NH,
CH, -~ OH CH,-OH fiJH3
26 H0GS =4 -
A B C D
(1) 68 pdoS wods P8 siren
(2) adod 585 28 wire  ©BodS
(3) wods T8 siren H6S ddoS
(4) 8 viren ©odS ) o83
24, The size of the parvoviruses is :
28 36365 HBS,H0
(1) 300 nm (2) 20nm (3) 400nm (4) 0.002 nm
25. The number of synergids and antipodals present in a typical angiosperm embryosac at maturity
respectively are
(1) twoandthree (2) onecandthree (3) threcandtwo (4) oneandtwo
Forémom eB)E Dot Bold HEHBE BOS Lok Fos' HOGLS IEBESSt D)
2Difcdy Begren B0 PADrE Smren Golron
(1) Bods 508030 Sardd (2) =88 Soboin Sordd
(3) Sorey S:Botd Todd (4) =£&8 So8cin Bodh
Rough Work
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26. In the Measles virus, the envelope contains protein projections known as spikes. These

oy

i i

proteins are

: (1) Acylated (2) Methylated
3 (3) Glycosylated (4) Carboxylated
‘ b)?&)eﬁ:\} 8RS Ll STC e 8 5s* RWBIED ErdRS NoEren sodron. & @‘L‘S:‘Sg
§ :]0’59
i (1) d»&8BE (2) Hp8B&
: (3) EE“:@EEE (4) sondEBs

27.  Assertion (A) : Ina bioreactor; temperature, PH, substrate, salts, vitamins and oxygen are
'E maintained
1 Reason(R):  They are added to maintain proper growth of the organism and to achieve
: desired product optimally

(1) Both (A)and (R) are true, (R) is the correct explanation of (A)

(2) Both (A)and (R) are true, (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

Afdo (A): w@rBoir§6s* S aiid, we ﬁm“q;m, LdTren, LS Hbain
shzaw Jchogns® Sodudaran

8o (R): - Héf&& 2D g KOG 58 FE% Hobasn Frogah G Tes ehE
AnFgod FolSmIE wobodwdaromn

(1) (A)Sodcsw (R)Bodr 280053, (R) @38 (A) % 280N DS

(2) (A)So0acsn (R)Bodr $8c0sS, 572 (R) uF6 (A) % R0GE 8w e

(3) (A)%6@038 50 (R) &y

(4) (A) 8%y 5 (R) SBZoLB

28. InZ-scheme of electron transport, water splitting complex supplies electrons to

i (1) Photo system - [ (2) Plastoquinone
: (3) Pheophytin (4) Photo system - II
; Z-58808"0 dogS Tard’, B8 DHES Soffo B8 Jeges: J6so Basod
(1) w08 3g5g -1 (D) eSS
; (B) HR S 4) w08 555 - 11
i
: Rough Work
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29. Match the following lists

A)
B)
C)

D)
Bod

A)

B)

0)

List- 1
Lyases

Ligases

Hydrolases

D

1)

[1T)

List-II

Enzymes catalysing hydrolysis of ester, ether, peptide,
glycosidic, C - C, C-halide or P - N bonds

Enzymes catalysing a transfer of a group, G between a pair of
substrate S and §'

They catalyse removal of groups from substrates by mechanisms

* other than hydrolysis leaving double bonds

Transferases [V)

Hidgeso aé:ﬁt&lu& :
(5]

é%é—l
edoEen

BNEe

.

TE' TS

D) Lé.;r".‘\ﬁ._}:ﬁ'é Few
The correct match is:

)

1)

1)

V)

They catalyse the linking together of 2 compounds

838 - 1l

..‘.‘izgﬁ, Sa55, _’.JE:E, EE"’_‘@&E, C-C,C-w86 8z P-Naogod
2o J3q0 EN JoBoew

G $500708rd) S, §' w3 Toth @Y Sorgre Ny ST )
JoB=0w

Q8 35Eed Fom w86 diro@re T ey STge
So0d) dInTraires Fohod Spomren J6EH JoEwd
2 JodlrAsrods 00 65 P8 JoBow

28 W08 a8 !
A B C D .
1y 1 I Il \Y
(2) W I I i
¢ m v ([ &
(4) n v |
Rough Work
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A

i
i 30. Match the following lists.
‘% List-1 List-1I
i A)  Ascocarp I)  Asporeproduced by an ascus
1 B) Haplontic I[) An asexual spore produced by certain algae and some
I fungi, capable of moving about by means of flagella
'.!' C) Zoospore I} A life cycle in which the haploid phase predominates and
: the diploid stage is limited to the zygote
‘ D) Ascospore IV) A non-motile, thin-walled spore .
V) Itis the fruiting body of ascomycetous fungi
\Bod HPoss 2ddd)0b :
5436 - 1 58 - 11 '
A) sy sE D w5 %008 688 wons HEdasy
B) agj8s ) & Fderen Sodakn doren &g T, A4S
S ETercing, wBohs IR
C) KHSod Hgdase ) & 228 Sos* AE[AE &F BT I, EoRBE ¥
© doding Hrd8 Sr@ld HBEP Sotnod
D) wanays V) o8 Sof 528 Seosd Aden 508 &) bebasw
V) =28 e, AR FOoITPY DoTokSw
The correct match 1s:
2b 908 =d
A B c D
(1) 1 v \Y I
2) N Il m 1
(3) I 1 v m
@) {’@ (M W w
Rough Work
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31.

Flectron microscopic study of cilium and flagellum revealed that they are covered with
plasma membrane and the core structure is called “axoneme”, possesses a number of
microtubules running parallel to the long axis. How many number of microtubule arrays
are arranged peripherally and centrally

§rgo B8 Do Jogs WrHEGHIS SrbdHd, ©d Iy DS Ehywb dotrom.
D8 Zoderrd) ‘wEHAN' wotrd. HAS" w3 Hrf) TP Jew vFIs JHiresdSnm
Solron. HAS' AY) H6hoH $0ckn Tody ArEy T Golrow

(1) 9+2 (2) 8+4

(3) 9+3 (4) 8+2

32.

Assertion (A) : Inmost biological systems, the initial growth is slow (lag phase)

Reason(R):  With limited nutrient supply, the growth slows down, leading to a stationary
phase.

(1) Both (A)and (R)are true, (R) is the correct explanation of (A)

(2) Both(A)and (R)are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) 1s false
(4) (A) is false but (R) is true .
AYPTo (A): o 25 Sgiped’ e SEST hbEe IS8T wlbibdod. (Bo0d &)
s8o (R): oo p&Ho 8A Hibde Sndon, e Jim $4P608

(1) (A)S8as0 (R)Todr 286033, (R) ©3d (A) S ¥8c0& 256

(2) (A) S8csw (R)Dodr 206053, 5° (R) ©wld (A) So 3008 DS8m 578

(3) (A)»0&0E6 570 (R) 8oy

(4) (A) 853 58 (R) 5658058

Rough Work
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' J
Triose phosphate (3 - phosphoglyceric acid)

v
2 - phosphoglyceric acid

2 - phosphoenol pyruvate

I @
Pyruvic acid

The enzymes catalysing reactions 1, 2 and 3 respectively in the above steps are

(1) Phosphoglyceromutase, Enolase, v
(2) Enolase, Phosphofructokinase, Pyruvat

(3) Phosphoglycerokinase, Enolase, P%tckimsc
(4) G-3-P dehydrogenase, Enolase, Phosphoglyceromutase

Kr&'E

o BrE 3""@3&4} (3 - AROE eS00)
I @
2- ﬁ‘ﬁ‘;ﬂﬁﬁ& 850
! @
2 - ﬂ‘ﬁlﬁéﬂa‘ﬁ DErEE

! O
DErDE B0

=S =R f

23 285§ 1, 2, 3 Sdgodt ﬁ@aﬁ?mn‘ HEDH JoBHood JOGLS Eos® Bwodod

(1) DG JrgBE, HI0E, PErIE TIE

(2) 6388, PG EIE, 2ErI6 3IE

(3) FWPE 338, &508, PErIE 8IS

(4) G-3-P & 778238, &I'BE, ARG SorghE,
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34.  Which one of the following does not belong to Solanaceae
(1) Nicotiana tabacum (2) Withania somnifera
(3) Derris indica (4) Lycopersicon esculentum
& 808 FBS* FoIDE BodIB J6?
(1) Aeadsrs Goréan (2) derdcir FIywo
(3) BPH wods (4) BEHY S by Bobo

35. Find out the right combinatien of primers in a PCR to amplify the DNA product
& 1800 T8¢* PCR 50w DNA 856edste 2hodas #d@riod 535 26 28l

fodod

(1) J T, illlllll“
ql 3!
- 3 (TITI'ITII5 } Set [

' ' ALl TR
-.' ' C

2 IIIIIIIT |

(2) _P‘nu y DA } Set |
5 Ll i
2 LLLLLL U T 3

(3) 3 1?3 } Set 11T
Ew (11T L ¢
o
=TI

{.4) ll‘(lum 5 T } Set [V
3 ~ L ¢

Rough Work
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H 36. Match the following lists

List- I List- 1I
A)  Plasmolysis [) Movementof water occurs exclusively through the
': intercellular spaces and the walls of the cells
i B) Translocation ) Thebulk movement of substances through vascular
{ tissues of plants ,
: C) Symplastic . 1) Water travels through the cells-their cytoplasm;
1 - intercellular movement is through plasmodesmeta
D) Apoplastic IV) Water moves out of the cell and the cell membrane

of a plant cell shrinks away from its cell wall
V) Symbiotic association of a fungus with a root system.

P Fungus provides minerals and water to the roots
'* Bod D80S 2édG0d :
536 - 1 38 - 11
. A) Em@Sg Dof'So D A8 SodosSoo Earodordiye, Sw 5o I

S adhihdod

Jng o HE6e Rodo Tl DTgY JPe IO
D8 Foddn Lot Sadhgo T Roirdnod.
Sere oGy Bmlisy woTre To adibdod

B) srodde IT)
1)

D) &Iy T IV) Emre Sood i 20088 3 FonSdyds Seado
V)

C) 25§ deso

50 oot AbTFdoch
) ;’JE;’JQ 8050 FDoEHn Sagg JFrdSso. 2o
300|850 A DBosw plroi Lodod

The correct match is :

b 08 2d
j C D ”
(1) @ 5) @ I
2y IV I Il
(3) I I 1 I\
4 W i 111 I

37. The floral formula of Pisum sativum (ped plant)
PO VIS (27 Dogy) gy V) SWEGRSN 282

TN
{1] BrEbrl @ g‘K{S}C(S}ASQI] {2) Br Brl % {K{S}Cﬁzﬂg}fi{g}ﬂﬂr

)
(3} Br Ebrl & g’P{3+3}A{3+3}§{3} (4] Br Ebrl % {K(S}C{S}Aﬁg(l}

Rough Work
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38. Match the following lists
List-1I List - 1
A) Diptera [) Homo sapiens
B) Poales ) Mangifera indica
C) Sapindales | ) Musca domestica
D) Primata | V) Triticum vulgare
Bod DB 24850
ags - 1 53¢ - 11
A) ajo ' ) “oudr bda)
B) 2038§ M) Srczo wobds
C) &%oldS ) S Fys
D) (@sre IV) (@88 386
The correct match is :
=1 égn":r 2368 ;
A B C D
(1) I I I\ Il
(2) 0 m I N
(3) 1 v II I
(4) IV I 11 I
39. This Indian scientist and his group contributed immensely to C4 photosynthesis research
(1) J.C.Bose K (2) V.S.RamaDas
(3) PK.K.Nair (4) C.GK.Ramanujan
TESBTIE Bobs & TRIE 0k saDS Tvdgben C4 Edmady Sodrigch
DOFENE wdgod SETE
(1) B 59 (2) D.00%. oHo
(3) H3EL b (4) 223 odrdes
40. Porphyraand Dictyota contain the following pigments respectively
(1) Phycoerythrin and fucoxanthin (2) Xanthophyll and y-phycoerythrin
(3) Chiorophyll d and chlorophyll b (4) Fucoxanthin and phycoerythrin
PTo Sododn AFArirS” & Fob SPEargen ©d SHJEH0S* Gotrow
(1) RE0@S odcin Frgfuoda (2) wrof'Hd Sobadn y-EIBBS
(3) &696 d Sbcin E6S b (4) rgferods dain PEIOGS
Rough Work
S2
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ZOOLOGY
41. Name the targetted gene in first clinical gene therapy
(1) Adenosine deaminase (2) Cytosine deaminase
(3) Thiamine deaminase - (4) Guanine deaminase
3068 EAES adg DB TAS adogd
(1) Q4508 SdaIE (2) DS BAWIE
(3) BwsS GodoI& (4) MRS BIIE
42. Which of the following cells of cockroach secrete saliva
(1) Glandular cells of mesenteron (2) Acinar cells
(3) Stomodaeum cells (4) Proctodaeum cells
SQoES” wrerzorl) EIo Bwren
(1) Soprgod (fod Beoren (2) dvaE Seren
(3) odgioy Seren (4) SraSnH§ Seren
43, Enzyme present in lacrimal glands of eye that has immunological role
(1) Ligase (2) Lysozyme (3) Lipase (4) Lacriminase
£o3S'R g fod |FrSS0nes® cdwody GHAGGE 4§ o JoBSw
(1) Ta& (2) Sz (3) 8%& (4) e f03&
44, Origin of new species due to the geographical separation is called
(1) Phyletic speciation (2) Geographical speciation
(3) Sympatric speciation (4) Allopatric speciation
FHEE DSES S0 Fdard kb
(1) BLE S0eHodn (2) FHYE HberSoSwn
(3) %oariS§ HderSodw (4) wS*EBE HdeSodw
45. Match the following
Set - I (Endocrine glands) Set - II (Hormones secreted)
A) Pituitory gland [) Melatonin hormone
B) Pineal gland ' < II) Thyroxine hormone
C) Thyroid gland [Il) Cortico steroid hormone
D)  Adrenal gland e IV) Growth hormone
& Eob I BSHEBSL
288 - [ (wodi@nss \Hogoewn) 588 - I (5*5°)8 |@So)

A)  HdSrd (Hod ) Doi'ds 565

B) 5doh& Hod ) Jods T

C) Boond Hod ) s§& Rorond F*0° %
D) ‘aﬁfnﬁb io& IV) snde 5“5‘&5:.

[dentify the correct match.
b H050N =d.

A B C D
(1) i I NV I
(2) I Il m v
(3) \Y I il I
(4) \Y i} i I

AM 2017 21-A _
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46. Mark the decreasing order of complexity in the given living systems

A)  Cell B) Organ.

C) Tissue D) Biosphere

&% B0l TUI T8 Jobhd srrddum eS8 in Ednd' elhindn
A) S2dx B) w=odd®

C) Smzreo D) 23/ ¢S50

(1) AB>D=>C (2) D>B>C=>A
3) A>C>B=>D (4 B>C>A>D

47.

Match the following

Set - 1 Set - II
A) Flame cells I)  Arthropods
B Coiledtubiles =1 ) Platyhelminths
(C) Malpighian tubules | IM) Crustcean
D)  Green glands IV) Annelids
& fod T 2dDTdw .
5086 - 1 - 58 - 11
A) e Soren ) sg&Fa
B) 0w 86A5 orPEen ) FEo0esd
C) srdy2chS ook M) EHaoHS
D) Srodfogoes V) eddo

[dentify the correct match between Set 1 and Set 11
55-1 Ho60%0 HEE-11 HOGS Do 2EBcsSD

A G D
o 0 2
(1) I / I
I i v

(2) m
(3) i} \Y I -
(4) v I 1 I
Rough Work
AM 2017 ' 22-A S2
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(A]

48. Match the following:

A)

B)
)
D)

Set-1 ) Set - 11
Reproductively isolated from the [) A genetic unit
individuals of other species

Sharing the same ecological niche 1) Abreeding unit
Showing similarity in the karyotype [ll) Anevolutionary unit
Having similar structural and - IV) Anecological unit

functional characteristics

& B0l T adHddaba

A)
B)
C)
D)

HgE -1 288 - I
288 wrdoe Dod PEEB - D =dg @Erede
DHES &G ol

28 255080 T8 DohFHb I 1HadS BSradw
2B0EDS sORrBD EPanodody ) Hoesdy HIreesw
28G5 Aoerd ¥ SoBosw V) o858 Hireadn

\Scira,s e feredd §Qodnodots

Identify the correct match between set I and set II
E}%S’—I bValenib] ‘.ﬁ%ﬁ-ﬂ RO DS sdicieds od fafowasn.

(1)
(2)
(3)
(4)

A B ¢ D
I\ I I 1
nm- N 1 I
1 I m v
[ i I IV

49. Which of the following statements are true for ecological pyramid except

(1)
(2)
(3)
(4)

Energy available at a lower trophic level is always more than that at a higher level
The pyramid of numbers in a parasitic food chain is inverted

Pyramid of biomass in sea is upright normally

In a tree ecosystem, squirrels are primary consumers and ticks are secondary consumers

& 1808 TIS* €S0 DEDEOS Jonohod B HBDEE s

(1)
(2)
(3)

Bod ;’fﬁéigmej‘ oo ¥ ﬂ’ﬁé@;m&ﬁ‘ oo ¥ £08 I8
ArHEHeo uSE Fwnd® dopg HELE duBoliedm duodd
FRES0S'D (Ghgord DOME FErémdomr AL dinodos

(4) Sy s3deind” sddon |FTFhE IArIT o b Adrdy &i8ch
s blost fataile o100
Rough Work
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50. Match the following:

Set - 1 Set - I1
A) Stichonematic ~ I)  Flagellum has two or more rows of
lateral appendages
B) Pantonematic I)  Flagellum has no lateral appendages and

) terminal filament
C) Acronematic “e III) Flagellum bears one row of lateral appendages
D) Anematicl IV) Flagellum does not bear lateral appendages
and terminal part of the acroneme is naked
& 808 TAJ 2ddddn

288 - 1 a8 - 11

A) REISrEE ) wicahdodyD Bodk B wodEod RESR]
SHOVOS" FERAT e cwodrow.

B) &o&*d5r838 [) E2ard8 oo e Sdas»
wodgdodigen clnods).

C) JFSrsE Il &veard8 viah SodoHhp of SHS>Ey
VO Eren dinodran.

D) 2257435 V) Saerd8 Sdy doeres oinodd) So8asxn

w8t S0 wodgarisn SifySoorr a0 o
Identify the correct match between Set I and Set II

HEE-T 500050 HBE-II H6ES JSSom 2EBasSn.

A B C D
(1) | I \Y i
2 N I m I
(3) I II \Y I
(4) 1] I I I\Y
51.  In which of the following cells first meiotic division is observed
(1) Spermatogonia (2) Primary spermatocytes
(3) Secondary spermatocytes (4) Spermatids
& 5ob Eored’ Dus8Arbmr EohESm deas 2k
(1) BDEsrSyEaren (2) FEDE HESS ST
(3) B5dcH HESTSETen (4) HESsen
Rough Work
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32,

Genetic Drift describes
(1) Thechange in frequency of a gend mearly by chance in small population
(2) The change in frequency of a geng that occurs mearly by sclection

(3)
4)

The change in frequency of a genefthat occurs mearly by selection and chance
The change in frequency of a genelthat does not influence in any extent

35505 Dﬁ;&:& T

(1)
(2)
(3)
(4)

0F) aTed” SrdyiEorr, aloy FIHIgos* LOA Sr

Sbevo Jo udog F:Ydgos* 07 Sy

cSr&ygon Sbain ISwmo Ju adeg FI:YSgost LA Sy
2y FN:YSgoss’ EOR Srddy ADGom Herssn SehBEFHEL

Statement (S): In Periplanata americana opening and closing of stigmata is influenced

by CO, tension in haemolymph and oxygen tension in the tracheae.

Reason(R):  The air enters into tracheoles and oxygen from the air is taken into the

(1)
(2)
(3)
(4)

cells and CO, is released into haemolymph.
Both (S) and (R) are correct and (R) is the correct explanation to (S)
Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(S) is correct but (R) is not correct
(R) 1s correct but (S) is not correct

Tgpg (8): DBTILr ossas* TrRdogren Sordofdd Sobotn BFhHESL

T3r00RR CO; HESS50 $0050 FFRTESNS'D 0, B850
S EHEIR.

6@o (R): TlnaPEc®™ md @3eodmd mds' O, o S, Srostd

(1
(2)
(3)
4

COy & TArdol HWerodo.
(S) SoBasn (R) Body H8g0ED S0dasn (R) wios8 (8) & $060sS DS8e
(S) So8asn (R) Bodd 38808 577 (R) ©5038 (S) & 506508 IS0 57
(S) 38663056 572 (R) 205058 s7¢
(R) 566858 70 (S) 205058 5°eh

54.

Which of the following scientists discovered the drug for filariasis
(1) GN. Ramachandran (2) Y. Nayudamma
(3) S.N.Bose (4) Y. SubbaRao
D80T RG SNAL Eﬁm‘m ERof") ?335_5

(1) 2.09085. clhdoEs (2)

; a‘u“.im:ﬁ::ué

s
(3) obR.ohd. F% (4) 3 Damod

Rough Work
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53.

Match the fol lowing:
Set - Set - 11

A)  African sleeping sickness I Plasmodium vijvax
B)  Oriental sores I1)  Leishmania tropica
C)  Elephantiasis I) Trypanosoma gambience
D) Malana K IV)  Wouchareria bancroft
& 808 VD 2dEBES50

5638 - [ S48 - 1
A)  wpE BEAS T I T doho S5
B) &tsafots &G II) D IRV TES
C) 0vos3csres M) Sarsaese o)
D) S&@pasr V) &g8sasir IO

Identify the correct match between Set I and Set I
Y81 83800 SEE-IT 56608 D85S0 CEGE Y

A B C D :
(1) o. q \Y I
(2) I 11} I IV
(3) i} V- 1 1
(4) I I Il v

56.

The cell organelle involved in the formation of a flagellum/cilium
(1) Mitochondria (2) Lysosome (3) Basal granule (4) Golgi complex
STLED 1 IBE & $08 Eerroran D08 Aty

(1) Des*groBosm (2) g&s's (3) worogss (4) mQ Sofhsn
57. One of the known largest coding gene in humans

(1) Dystrophin (2) Haemoglobin (3) Insulin (4) Myoglobin

Srddest ey FEIS SodBod 23805 .

(1) A eS (2) TICADS 3) =8908 (4) DBrTDS
58. Which of the following vertebrates are Jjawless

(1) Chondrichthyes (2) Osteichthyes (3) Cyclostomata (4)  Amphibia
Q8 SS5&en B HEISE S

(1) soB88% (2) w2855 () PEFoir (4) ©oddosr
9. Klinefelter’s syndrome has the following phenotype and karyotype

(1) Maleand47, XXY (2) Female and 47, XXX

(3) Maleand 47, XYY : (4) Female and 46, X

5988 2o & 1808 Sy¥sdrnsn SHB05 S0@ErBH EDoi0¢oss

(1) Jod S8atn 47, XXY (2) @ Sobasn 47, XXX

(3) &L D800 47, XYY (4) & SoBotn 46, X

AM 2017 26-A ' @
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60. When a white eye Drosophila male (X" Y) is crossed to a red eye female {XR X", in the

F> generation all the females are red eyed and 50% males are white eyed. In a criss cross
test, when a white eyed female (X" X") is crossed to ared eye male (X* Y), the F| generation
off spring had white-eyed males while the female offspring had red eyes. Instead of crossing
of a white eyed female (X" X") to a red eyed male (XR Y), white eye female (X" X") to white
eye male (X"Y) iscrossed, the F, generation will have the following phenotypes and genotype.
(1) All females have white eye (X" X', X" X’) and all males have red eye (XY, X*Y)
(2) All females have white eye (X" X', X" X") and 50% males have red eye (X} Y, X"Y)
(3) 50% females have white eye (X" X", X® X") and all males have white eye (XY, X Y)
(4) All females have white eye (X' Y", X" X) and all males have white eye (X° Y, X" Y)
Byt DREF%er (X V)6 dgsse sageve (XRXR) & sosg,o asam, F, stins'
) sddPen P (X' X) So0ain 50% SondHen Bosinen (X'Y) £0a samon. B8
Ddisdgorr, Bpie ed2dd (X X') Jgsiye Sorsd (XX Y)8* toit,0 260, F| 850" Sordded
Busdyner DO edEPod) JGESNe SPobuTon, Besine ws2ad (X' XN d J¥Esne
Lrda (XRY) & Qoo atdPbss adeor, Botie wEd2d (X' X Susine KEd
(X"Y)$* sodg,0 ztodm F) 8805 290 S)dgtrdo Hobcin adgbrdo &ddomr Godl.
(1) o) sddHhoo Bgesges (X' X, X' X) S8050 0d) SHfdHes PGS
(XY, X"Y) 69ctnodos
(2) ©d) sddPheo Bginer (X' X', X' XT) Sooasn 50% SoddHes J@Esne
(XY, X"Y) g9asn)d
(3) 50% mddHe: 3 wfine (X" X, X® XY sopatn vy Df2Pper s
XY, XY) . :
(4) e B 2P Boesyes (XY, X' X S00as0 6 SofdHesr Sodsne

(XY.X'VY) 50 &30
61. Human heart contains 4 chambers, whereas cockroach has a heart with
(1) 13 chambers (2) 8chambers
(3) 12 chambers (4) 2chambers
IV Modarey Kok §Qcnododn. vl S*go¥ Hod fthe Hopg
(1) 13 ddoen (2) 8 Keoen
(3) 12 Aeoen (4) 2 rcoen
Rough Work
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62.

Vaccine contains

(1)  Only formulation chemicals

(2) A medicine that suppresses immune system

(3) A disease causing inactivated microorganism

(4) A chemical that suppresses host DNA

s EQodnodasd

(1) &8s Saraid SoTen S

(2) gl WS EESH vweddain TAdo

(3) odgisn Johds Tghd Swrdain Srgdd
(4) ©&Gow DNAQ wadlcsy Sdrohs éﬁ'gm

63.

Identify the organisms that cause ringworm

1)  Microsporum 11)) Haemophillus ii1) Streptococcus Q
iv)  Trychophyton v)  Ascaris 4
i Tgha EenfBEosn s*dsredy Hbotod

i) JEFE i) T3rped i) RIYEES

v)  (B5pire V) 808

The correct combination is:
Q8 H8S ad

64

(1) i, i (2) ii,v (3) i, v (4) 1,iv
. . 66.

Match the following

Set -1 Set-1I |
A) Caloreceptors {"( I) Cold receptors '
B) Proprioceptors 1) Body surface receptors
C) Frigidoreceptors III) Heat receptors
D) Exteroceptors IV) Receptors found in muscles
& \Bod TAD adBHddBwn

DR -1 288 - 11
A) 55iRgG (mrsw) )  Sodsswe
B) @oarnag) ) ewedryedn
C) wa&vDys) M &3 s
D) erdrgmirstes ' IV) Sodoes® dduody (Torstes

Identify the correct match between Set [ and Set [1
HE36-1 So0asn HEE-TT HOGHS Do 2EBHosnsn
A B
(1) I 1
(2) M1 Y
(3) Y 1Tl
(4) [l \Y

<
I
I
I
I
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65. Match the following:

Set- [ - Set- I
A) Typhoid fever ; [) Streptococcus
B) Ring worm infection II) Rhino virus
C) Common cold , [lf) Salmonella
D) Pneumonia IV)  Trychophyton
& 808 TAD 2EHEHBR

S8 - 1 288 - I
A) Brond agdsban ) (p¥sss
B) e M) 323 36s
C) &pde a2e00w0 ) &sf3e
D) Sogardcsr V) 88%urs

Identify the correct match between Set I and Set II
SEE-T Sobatn HEE-IT H6&0S S0 wdBabosn

A B C D
(1) I I i \Y
(2) m I\ I I
(3) I I I i\
(4) \Y I m I

66. Identify the correct statements.

A)  Ernst Haeckel is considered as father of embryology

B)  Von Baer is considered as father of modern embryology

C) Biogenetic law which states “Ontogeny repeats phylogeny” proposed by father of
modern embryology .

Select correct answer

(1) StatementA, B and C correct (2) Statement B and C are correct

(3) Statement A and B are correct (4) StatementA and C are correct

SOGH HITEISND HBoB0

A) Y] WEEH DGR TF DerSoTodor HEARS.

B) o380508% 6 bod'd)8 T3 berSdudomr KoY.

C) =2@Bra8l88 drodsn B5dsn ‘o8 2D 428 S0 © £ 3¢ 5D FHE
YICSYES B3y08. & HToawd) BEIE DoG'HG T HeSoTuh HEFBoT .

08 DArerdsnts J&JE‘G&

(1) &gwg A, BSodatn CH0G058 (2) agpg B Sdatn Cen $8505D
(3) ogwg ASibodn B oo 088052 (4) orgpg ASobosn Cen 58805
Rough Work
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70. N
67. Match the following
Set -1 Set-IT :
A)  Syphilis )  Human Immunodeficiency virus C
B) Cervical cancer3 ) Treponema pallidum ' I
C) Gonorrhea III) Human papilloma virus
D) AIDS \ V) Neisseria .
& 808 TR 2dEN5%sw
5886 - 1 546 - I :
A) DOD ) Soghos adogSavadhl) 369 ;
B) KopfoH Supmgs 556 M @a0sr 945 1
C) #Aibosr ) Feghos >SS 6D
D) AIDS V) oS
Identify the correct match between Set [ and Set II
S438-1 Sobadn HE-11 Joges g 2dTosBw
A B C D
(1) | il m
(2) i Rl I v s 3h
(3) I 11 | I 71.
(4) \Y% [ I I ;
|
68. Name the cancer which arises due to chromosomal translocation |
(1) Breast cancer (2) Chronic myelogenous leukemia (CML)
(3) Cervical cancer (4) Colon cancer
E'Rra'Sn FIrods Sordyy So Seold 5550
(1) &30 57556 (2) 05 DsEST engdoosy
(3) ﬁﬂ";ﬁcﬁ: Sopagd s'gHs (4) Fos sg3)b
69. Nervous system is derived from the following germinal layer
(1) Mesoderm (2) Endoderm
(3) Ectoderm . (4) Meso-endoderm
THHgHD & 8ol 2iSHto Hod 6
(1) Sogdssn (2) wodsssD
() wéghsso 4) Sog-eossgssn
Rough Work
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70. Match the following:

Set-1 Set - I1
A)  Insulin ‘1) Stomach
B) Pepsinogen II)  Salivary gland
C) Bilirubin Ill) Liver
D) Ptyalin IV) Intestine

V) Pancreas
& 1808 TN 2dEH0HSD

S8 - 1 248 -1
A) adyds [) dodaiasn
B) oS'zs ) eozeo Ko
C) Bendrads Ill) s&aho
D) ©oHads V) ik
' V)  Es080s

Identify the correct match between Set I and Set I
288-1 Sobotn Hs-11 H8G0HS JFSum 2&Bousn.

A B C D
(1) \Y% [ I i
(2) I I\ [ v
(3) \Y I I i
(4) V Il I \Y

71. There will be 6,000 to 10,000 white blood cells (WBC) per cubic millilitre of blood. A
slight increase in WBC count is observed during infection. This phenomenon is known as
(1) Leukemia (2) Leucocytopenia
(3) Leucocytosis (4) Leucopoiesis
2§ P85 WYOELE EES5nS* 6,000 K08 10,000 Fosgsares (WBC) abootron. o€
G'h dES50e* dudiiore Dopg A JEYS cSwdin KBoSadss. & &)5 DRI

Lol

JSooird.
(1) eog8docss (2) oorgF bl
(3) wrg&E s (4) eorgs'dronds
72. The study of fresh water ecosystem is called
(1) Limnology (2) Ethology (3) Synecology (4) Autecology
$00008 L5850 SgRnds wggoisstan Fodo 550 '
(1) DSmerd (2) =mored (3) Wlsred (4) «fsod
73. The lymphocytes capable of producing antibodies and can capture circulating antigens are
known as
(1}  T-lymphocytes (2) B-lymphocytes
(3) Large granular lymphocytes (4) T-helper cells
wé a5Fos éoéﬁmf.} BN PERIE rirsreom H0T%0 YoFplen
(1) T-DodFpsSen (2) B-8opiSes
(3) 3zo Shsoind S0P pdlen (4) T-{5500E Seren
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74. Immature bone cells are called
- (1) Osteoclasts (2) Osteocytes (3) Osteocells (4) Osteoblasts
©H008; whEeTros SIomr Heodrd '
(1) sh@rspen (2) sRIrplen  (3) whdrloe  (4) B ArerRen

75.  Ctenidia are the respiratory organs of the following

(1) Arthropoda (2) Annelida (3) Mollusca (4) Porifera
Soseromren & 1§08 IS¢ 82 T wdchaen
(1) sg&Fs (2) edo@ (3) Sowvadm (4) 2800
76. Heparinisa -
(1) Plasma proteins synthesizer (2) Anticoagulant
(3) Fibronectin (4) Thermoregulatory factor
TFbe
(1) oo @855 &8)8 Dobos (2) 88 0EES
(3) pe*ILS (4) &HIHOSS oKD
77.  Identify correct match between SET - [ and SET - II
Set -1 Set- II
A) ECG )  Noninvasive imaging
B) EEG II) Radiation
C) MRI : ) Heart
D) X-ray [V) Blood serum
" V) Brain
SGE-1 080%0 HeE-IT 0 28BS0,
58 - 1 588 - 1
A) ECG ) B DarsSsn £0Houd QdESH HEa
B) EEG ) da&HaS
C) MRI ) #KoBd
D)} X-ay V) d6&
V) 3odd

Identify the correct match between SetI and Set II
Bo8 TAS* Jomr 28 HEDD B 8o

A B C D
(1) I\ I el |
(2) | V . mMAx 1
(3) \% I (R
(4) i} Y T I
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78. Ina grazing food chain the trophic levels are as follows.

(1) Hawks — Spiders —- Small birds — Rose bush — Aphids
(2) Aphids — Rose bush — Small birds — Spiders — Hawks
(3) Spiders — Aphids — Small birds — Rose bush — Hawks
(4) Rosebush — Aphids — Spiders — Small birds — Hawks

N WGy Feodos® FREFoned & Bod IFS0m afuokoi
(1) #Ag — F0dhen — AP — HdDE — Dh8en
(2) MWEw = HrHTE - DHHHPo — FBYHHW — T~
(3) Foden = AEW — Vo — HOISE — 7
(4) Kod>S - Dybe — FdHhen — DHDKP — KG

79. Loss of calcium due to lack of reabsorption causes
(1) Arthritis (2) Osteoporosis
(3) Myasthenia gravis (4) Muscular dystrophy
PTG SHSnSy 5°9ule P So Dk G
(1) egss (2) " LRBrHEHD
(3) ;‘naiagaoﬁr A0S ' (4) Sl b &F>
80. The total volume of air accommodated in the lungs at the end of forced inspiration is known
as Total Lung Capacity (TLC) which is equal to
Where, TV =Tidal volume _
IRV = Inspiratory reserve volume ’
ERV = Expiratory reserve volume
RV = Residual volume
poSedy STENSN FHTE HHOBHOS BHBS MO JodSn WIDBSTRSNH
Nigete P TS FHoFedn wobrd ab B8 HArSs0
V=846 sreogd
IRV = ﬁrm'asfa DE0d PDETr S0
ERV = Ja¢id Qend PodH0srosn
RV = 533 208550 5r0050
(1) TLC=ERV+IRV+TV (2) TLC=TV+RV+ERV
(3) TLC=ERV+RV (4) TLC=ERV+IRV+TV+RV
Rough Work
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81.

PHYSICS

Consider the following statements in the context of formulation of any law of Physics 5
L explain the existing physical facts
[I.  noneed of experimental verification

[L predict future results

Then, any formulated law of Physics, should be true with respect to;

(1) IandII (2) HandII (3) IandII (4) LIHandII

FEET [0S I3 W& drdrodod RodESne* & §od TEgedn H8Ad8oKos.
L ehens® §%) Tos dorged ISoosSn

I @Armrdger 305rd wssssn SES5E50

M. $2Agd HVere GSrocisus

oyl Srdrododnds Eﬁ‘ﬁg-a"e VOB & 8ol 8 Sy ciiacr’g-'&n sTa8d0
(1) ISosaosw II (2) Ot lll  (3) ISebotw I (4) L3800 I

e, JEmel T B

82.

Consider a long solid copper cylinder carrying current I. Then which of the followi ng figures

correctly depict the direction of M B and H
hS' BohwdS o¥ FEBS 08 Sradns' [ ddge @é‘bmodm 20fBotod. wH

& 808 Sirest D8 M, B 0o [ 6% Som S OR300 o

il

(1) ,

"1
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83. Consider two convex lenses of focal lengths ‘f” and ‘2f” mounted at the ends of a black
colored tube. The diameter of the lenses and the tube are the same. The lenses are separated
by a distance equal to the sum of their focal length. If a parallel beam of light falls on the
long focal length lens, filling its aperture, the output beam of light is best described as
(1) Collimated and smaller diameter
(2) Collimated and same diameter
(3) Diverging and larger diameter
(4) Converging and smaller diameter
‘7 Sabasay 20 a‘a;*goéci Srorexn e Dody Bsozrstd Sbsen ;‘SES} Soth ﬁ‘éaga‘m D5de
wHdadid. u Lo Jgddn Hbdn MYt FPgHdn FHrddw. ¥ Tob LSO
Sogy drdin 8 Tergodoe Doododto PSS, wE dirodd 508 Pondn I8 S
.;Pargoéd drddn do SLES0 2 o) fod Jwgo SdNBoowdds, ag;&; 508
Poudnd & fob IFSnm JOM DHfosSuEyo.

(1) S5rodbEbotnds Hbcsn #5895 TgHsn
(2) HSrodbEbotads Huddin wod Jrghdwn
(3) JBodEbotndd dodn JEyS TrgHSw
(4) wHBofEbosmds Sobain S8 S JrgHsw

84. A uniform disc of mass M and radius R has a string wound around its periphery and tied
to a ceiling as shown in the figure. The acceleration of the center of mass after it is
released ' '

M (§5goe B00050 R Srgrgsn So o8 JE68 ¢) erirg woib wotay 8 84 Dhaise
530053 D E535% HLBNG® SrdS DGIVT DACEWASE. 8 DY SEBLSYE (K550
Boldsn @), dcdesn
(1) &g NN LA
) -4
3
2g
3 o
C
g
4 =
“4) 5 R
Rough Work
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85.

A bullet of mass 50 g is fired from a riffle of mass 2 Kg and the total kinetic energy
produced by the explosion is 2050 J. The kinetic energy of the bullet is
50 g |85gom2 Ho 8 s Mok 2 Kg (@igod do L8 Sod Deadsd SoBasa

& Hendos* G#18 wond Ingo AB¥E 2050 J wond 8 Kods KETE
(1) 5017 (2) 2000 ]

2050 ) W‘\ a83.7 1

86.

If the coefficient of cubical expansmn ofa matenal 1s ‘x” times of the coefficient of surfacial
expansion, then value of *x’ is

2.8 am‘g;h: RBwE), WIB0Hre w5§'ﬁ foegdn oA ITog a*sé‘ﬁ :“bsaﬁ;’mﬁéo x'
Biw Hod ¥’ Jend

(1) % (2) 1.5 3) 2 (4) 4

87.

Two blocks 4 & B of mass 2M and M are moving along X-direction on a frictionless plane.
Their instantaneous position are given by ¢ and £, respectively. At a particular instant of
time T, the kinetic energy of both particles are equal. Then,

(1) atT, V>V (2) atT,Vy>V,

(3) atT,V;=Vp (4) V,;=Vjyalways

2M Soboin M (©hgorden e 4 H5bcin B el dod B30 »E g 80 doow
SO0, T8 DwE), dfm PIeo QI [ D0k £ M ond@ddd. LSS
SdoHdn TT 8¢, & Bok Ewre ABFRL DI oYl

(1) T38,V,>Vy 2) TS, V>V,

() TSg, Vi=Vp 4) dedydr V=V

88.

A particle is executing simple harmonic motion. Tts displacement to amplitude ratio when
its kinetic energy is 84% of total energy is

2.8 Eroin $8¢ TordE Fossn Do), o0 K84 Bndo HBe* 84% YRy o
S, FEodsn Dok Sobs HoMde I

(1) 1:16 (2) 2:5
(3) 4:25 (4) 21:25
Rough Work
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89. Consider two series resonant circuits with components L, C, and L,C, with same resonant
frequency, @. When connected in series, the resonant frequency of the combination is

28 aSTd FHeYSghn ‘@’ EOHS Bod @6 s Sodrost g L,C, Soboi0
L,C, essofSosp. QBN @FcleS® EOLSIHEH & Do@rrbn Bog), wood P:pSghn

(1) 2w (2) % (3) 3w 4)

9(). Consider the symmetric about the time axis voltage waveform shown in the figure below
The mean and root mean square values of the waveform are

Bobd Sbsnd® drbity Forisn Stom ST ddok 658 Bwg) FYTI) SeKdotod.
@ SSof BEB GAng), Jtn Bddin Jw Sgo IgSre (mMs) Jevdw

V (Volts)
*
+Va s R R
o LT | 2T [ 3T |47 | 5T > t (sec)
=Va |__._ e SRR S
(1) Vi, Vo h (2) Vu, Ve
i |
(3) V,, V.2 4) T Va

91. Consider two satellites revolving round the earth at different heights. The ratio of their
orbital speed is 3:2. If one of them is at a height of 200 Km, the height of the other satellite
is (Radius of the earth is R = 6400 Km)

Bodo SIS e rdd Wiy 3N, 30 IQOS* BHFLowLHD. ;8 Erg Sdo NG
3:2. 78S w8 SrSn 200 Km ds* Joll, H5E edHfiirin @ng I&
(s Swg), argargo R = 6400 Km)

(1) 8450 Km (2) 845 Km
(3) 84.5Km ) (4) 84500 Km
Rough Work
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92. Diodes D, and D, shown in circuit are silicon diodes. The voltage drop (V) across the

diode D5 and the power dissipated (P) by this diode (D;) are

(1) Vp,=0.7Vand Pp,=0W (2) Vp,=5Vand Pp,=0W
(3) Vp,=0.7Vand Pp,=0.7mW (4) Vp,=5.0Vand PD2=5'W
]Z)2
—— 43K
| Pt ] AN
1
! Y

BL50S" Srdnds Sochins® D 580w D, s@rEws bOs'S ddrEes. D, dG3rE
D360 Sy TP vess0 (V) dcko gy Sgo (P)

(1) Vp,=0.7 V808w Pp,=0W
2) Vp,=5V®0c8 Pp,=0W
(3) Vp,=0.7 ViS00 Pp,=0.7mW

(#) Vp,=5.0V$08n Pp,=5W

93, A thin bi-convex lens (n=1.5) has a focal length of 50 cm in air. When immersed in a
transparent liquid, the focal length is measured to be 250 cm. The refractive index of the
liquid medium 1s
28 Dendd Brscorrs d LESw (n=1.5) mdsS® 50 cm Tergods ErdSnid EDAYHB.
TR w8 FESEHE |BI50S* SwoddPds FONS Tergodd drddwn 250 cm w (@S
cSrSES0 By, SEFSS Hrssw
(1) 1.33 (2) 1.46
3) 1.30 : (4) 1.36

Rough Work
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94.

Which logic gates mentioned below have the output value *0’ when both the inputs are 1°

8o 285288 O $6),wgoren, Dok VY JenSen ‘17 HHdydd ‘0° AFS Deosso LA
Hotron

(1) OR,NAND (2) AND,NOR
(3) AND,OR (4) NOR,NAND

9o,

Two projectiles of same mass have their maximum kinetic energies in the ratio 4:1 and the
ratio of their maximum height is also 4:1. Then the ratio of their range is

28 (S55078 EDAS Bodd BEY ShPe KO HBTRe DG 4:1 S8cke ;8 BwY, 50%
Do I8 41 wiyd S8 Tgge L8

(1) 2:1 @) 4 \ (%‘\
(3) 8:1 © @) 16:1 X

96.

A motor car is approaching a road crossing with a speed of 108 Km/h. A police standing
near the crossing hears the frequency of the car’s horn as 300 Hz. The real frequency of the
horn is [speed of sound in air =332 m/s] 5

w8 Irird 56 28 §'d) oA 108 Kmvh 386° 50088, © 5°hof 5¢ Jonds
O © 50 FEH I 300 Hz 5:dgsnd’ dod, s F68H §40 B0, dz
FSepdgsn [mos® ¢ed 38 =332 m/s]

(1) 300Hz (2) 332Hz

(3) 273Hz (4) 400 Hz %

Rough Work . g
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97. The electric field for a plane, electomagnetic wave travelling in the + y direction is shown

in figure. If the electric field of the wave E is in the Z direction, then the E field is
(1) Inthe x direction and in phase with the E field

(2) Inthe x direction and out of phase with the E field

(3) Inthe zdirection and in phase with the E field

.(4) Inthe zdirection and one fourth of a cycle out of phase with the E field

zl\ o~

b

{_
{_
-1 %

+y B¥S* Boirdod o dHde DEgEchAm 08 SEoKINEKH DS FEIN HLINS*

SrBnS6. SoRsn nE, IS dEin E, Z 69 64, B E6s0
(1) x 84" 908 E B8os* od S46° Hotood

(2) x BFS* Hod E o8 28 $¥S° Jodd

(3) z a¥s* JHhod E Egod" o &¥S* Hobood

_,_}
(4) z BFS' Hod 50050 SEos* é eriidn E Eos® &¥eS' Hokd

98.

Two metal rods, rod-1 and rod-2 of equal length are welded together end-to-end. Under
steady state conditions, when the free end of the rod-1 is kept at 100°C and the free end of
the rod-2 is kept at 0°C., the temperature at the welded junction is approximately
[Thermal conductivity of rod-1 =92 Js' m™'K! and of rod-2 =16 Js"' m~' K]

JErS FdY SOAS §§-1 So0okn £§-2 wiko Bod ST Efen wf TR DIC HFES

805 ©dBomd. £§-1 Tgan D58S 100°C Sodctn §§-2 Hyaddss 0°C $¢ HodSYd,
QA0S RES' Y[y, Dot E§v wdinds 0§ ¢ GYPrd Dirdm

[§-1 sgarrsdesn =92 s m K Sovok 8§-2 % epomsssn = 16Js m K)
(1) 85°C (2)~ 50°C: 3) 75°C (4) 95°C

AM 2017 £
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99.

A 2 mm? cross-sectional area wire is stretched by 4 mm by a certain weight. If the same
material wire of cross-sectional area 8 mm? is stretched by the same weight, the stretch

length 1s,

2 mm? mdgiﬁ‘)cﬁ FTogin fo 81 Fod erdind 4 mm Frbohadss. vl Sorgind'
Bobos § miP sgHE Irgesn Ko BRoH wod Esns' FHEBIHE TIS*
arfade

) 2o (2) 0.5mm

(3) 1mm (4) 1.5mm

100.

Consider two surfaces S; & 8, sharing the same open circular boundary C, as shown in the
figure. If ﬁ'sl and ¢sz are the magnetic flux through these surfaces then

DB0S’ Srdd dPsnm BEDS &8 HEES 20T C7 B 5| Hbddw §; o Bodk
&H0duren Dowiotnaon wisomrin. qﬁsl S080d '?552 e & Soth &Nbdere
ol Fdh wohIod WHITTB
(1) iﬁs,} 'ibsz I | S,
2) ¢s,> 95,
(3) #s,=9s, _
(4) ¢s =¢s5,=0
Sl 52 -?l:

101.

If a unit vector is represented by
0.51 +0.8j +ck
then the value of *¢’ is

28 Pirm 98% 0.51 +0.8] + ck B SrdoS0sdd ‘¢ dend

(M1 2) Jos (3) Jo1 4) Jo.o1

Rough Work
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102. In football sport a banana kick is an off-centre kick that makes the ball curve or suddenly

change direction mid-air. The player achieves this by i imparting revolution on the ball while
kicking. The physical principle that best describes the banana kick is

(1) Hooke’s law (2) Bernoulli’s law

(3) Tormcelli’s law : (4) Newton’s law of motion

8 YOS wbS® Solrdl Srdom wod ol wEiSHos Sd)dod © w08 JEs0st
Sor md Do8geS' w8 0T B ;’:u*cgéooé.mna SHLY W 208D HoESeSn EDACTESD
oo sbmd 63 Ffodhod. edilbod diio)do GdSoom 5808 FasTy DT oS50
(1) Hv§ dchBHdn

(2) BE)D drodio

(3) &EBY Bw§, HEodin

(4) Srgod GuE A8 dohdran

103,

A linearly polarized light is incident at Brewster’s angle on the surface of a dielectric
medium. If the incident beam is polarized parallel to the plane of mmdence then which one
of the following statement is correct?

(1) The incident light will be completely reflected and no light is refracted at all
(2) Half of the incident light will be reflected and half of the light will be refracted
(3) The incident light will be completely refracted and there will not be any reflected light

) %rd of the incident light will be reflected and the rest will be refracted

28 TDAd )08 5708 2.8 5'GE oIrSESw GH0Sw0 D 2 Br36 Sfedn ¢ ué;ﬁézi’b:‘jﬂ.‘«'ﬂﬁ
SE85 508 Poadw I8N dolwdH HSrodsSom da:)éﬁoﬁ & Bod Teged’ 26
20gRd87

(1) 388 5708 Tngo JTS5IHS5n Toheod HHBEH 5708 Jod SrE@sn SEFSSSw
mleTafat

(2) BES o8S* Bridn HTBYSS0 Bodiod Sk HASL SEFSSS0 Todos

(3) 588 5708 Ingo HEFS550 Bodood HBAN T08 Jod SrFo HoSESS0
o

(4) H8% o8t %;’me‘h 20rSdRHan Toddrod Hob8adn AdS orKsn SBgss50
dododod

Rough Work
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The percentage error of measurement in &, 5, c and d respectively are 1%, 3%, 4% and 2%.
The percentage error in the quantity O is then

104. A physical quantity () isrelated to four independent observables . 3, cand das Q =

Ipd
a, B, c 508a3w desio Trenid 355150[55 Sbeden Quld §'aso? 0= ap Homodsng®

Jed

G0b. @, B, ¢ 58a8» d & ShaTees S5Hdm 1%, 3%, 4% 00050 2% wond ‘O’
Fasoes* SArassn

(1) 5% 2) 10% 3) 13% (4) 24%

105. An electric motor driveny pump fills an overhead tank placed at a height of 20 m from the
ground-level sump at a rate of 20,000 litre water per hour. The motor has an operating
resistance of 22Q) and is connected across a 220 V source. The efficiency of this motor is

(Use g= 9.8 m/s?)

a8 DS Irtrdd® Sdoyd) Do grdron HoP Bod 20 m IHSW IS FJS'E
fotgo 20,000 LY A8 TEYS JoYHB. 8 Irird o), HOBo VGBS 22Q
Sobcin oA 220 V 2585055 0%, &8 Ardrdk oog), S

(=98 m/s* ™ 80508)

(1) 12.5% (2) 73.5%

(3) 49.5% (4) 22.5%

106. When a hydrogen atom in n = 4 state de-excites to n= | state, the wavelength of the photon
emitted [R=1.097 x 107m~1] is

n=4 RS S8 n=1 %waﬁ TGRS dESraod vduduo TododSiHds, a0
Fro BwE), ddongggsn [R=1.097 x 107m-!]

(1) 97.2nm (2) 103 nm
(3) 200nm (4) 400nm
Rough Work
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107.

Two circular discs with masses M; and M, and diameter D; and D, respectively are
designed to have the same moment of inertia about the axis along the diameters of the
discs. If M) : M; = 9:4 then the ratio of their area 4, : 4, is

Soth fEsd Do (SHgordes M) Sodckn M, 508050 T8 agdres SKHdm D) S98asn

Dy w0, & Dodo Do 78 Tgre Iowd IR vgroddor add @EriosTen

pirSSodogly drdroBomd. M| : My =9:4 wond o8 ITerge U8 A, : 4;
(1) 3:2 21 23 (3) 4:9 (4) 8l:16

108.

Consider a car moving at a constant speed of 14m/s around a level circular bend of radius
45m. The minimum coefficient of static friction needed between the car tyres and the road
so that the car goes around the bend without skidding is

l4m/s oIMS0SE* o8 5d 45m TEPGI0 o of Igo SEsd Sofy Wby
BETreSoihRB. 8 5 S0P by rEHE Pairdodivsed s Bk Sbakn
Sy SodgHe §0g RBE D M

(1) 0.44 2) 1.0 (3) 4.4 @) 0.1

109.

In the circuit shown below emf of each battery is 5V; and has an internal resistance of
1.0 . The current in the circuit (Iy) and the reading in an ideal voltmeter (V) are :

& (fod Srdndd Jvchod® wf)E) dbdn BwE, Aogames wodn 5V Sodasn
©odds ITEI0 1.0 Q. Swobing® digd Harirsn (Iy) $H805m 668 Sudriss*

aﬁoﬁ(v} II Il II ]
L | ! i
@V
] 1 il
1] e § 1]
(1} [ﬂzlﬁ,v'_{} {2} quﬁﬁl.,v=ﬂ
(3) L=1A,V=1 (4) Ip=5A,V=1
Rough Work
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110. An oil drop is negatively charged and weighs 5 x 10~ N. The drop is suspended in an
electric field intensity of 2.6 x 10* N/C. The number of electrons the oil drop carries is

&8 e 3¥red Bo Doty grosn 5% 1074 N. 2.6 x 104 N/C &4 Ko deogs Fgos”
& Bo Doy Pt v 3o Doy p o JoFgie Sopg

(1) 8 (2) 10

(3) 16 (4) 12

111. A metallic pendulum bob of mass 300 gm contains a charge of 1 C, and 1s 5uspended bya
thread of length 5 cm. When the system is placed in an horizontal electnc field E . the bob

gets displaced by 4 cm as shown in the figure. The value of | E | 1s estimated to be
[Use g = 10 m/s?]
aé 'Y S'of FeSn BSgome 300 gm Sodbain wd¥se 1 C 28 5 cm >8P Ko

orESnd’ Gordfobndsd. & SgEns B Bda Darodd Ddogd o’ HoddsYd, &

-
AeSn HLBG Srbd dESnm 4 cm FdEoddn TodLs. |E| Gxg), vobar dend
(g =10 m/s? ™ E3604]

(1) 4Vim

(2) 5Vim

(3) 20V/m

(4) 15V/m «, C,,;-*?

112. Two long straight wires are parallel and carry current in the same direction. The current are
8.0A and 12.0 A and the wires are separated by 0.4 cm. The magnetic field (in Tesla) at a
point midway between the wires is
Bod PEDS BHIS JSredd Sed' 2 8IS Idgdy HIToHDHHG. ¥ Sfed
©5rod Deogsy 8.0A Sebasn 12.0 A ook e Sugy drdsn 0.4 cm ok dde
g5 Do 5§ wodod Fgo (B

(1 0 (2) 4.0x10™ (3) 8.0x104 (4) 20x10*
Rough Work
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113. The displacement of a particle moving along x - axis versus time is given in the figure
below :

The average velocity, V,,, of the particle in the first four seconds and the velocity V of it at
t=4sare

displacement (m)

a{;.ﬁg&: 30 (m)

a ¥
0 R T T A
I 2 % 4 8§ 6
time (s)
ol (s)

X - 0550 Joad S0 Fndn BwE), FTIHETHN - Tuive SES0 HLENS' asi@dSs.
J06E Teoi DEDHOS* © Sodn Gog ke Isw V,, Sdcsn t=4s 5§ o

3650
(1) Vg=-Im/s, V=-Im/s (2) V.=Im/s,V=1m/s
(3) V.= Im/s, V=0m/s (@) V., =-lm/s, V=0m/s

114. Kepler’s second law states that the radius vector to a planet from the sun sweeps out equal
areas in equal intervals of time. This law 1s a consequence of the conservation of:

(1) Time (2) Mass

(3) Angular momentum (4) Linear momentum

520 G0k, Dods Aohddn E5do, gl Sod BT o (I DD JoT TgRrgo
SIS o S536d d5rd Jrergod V50008, & Johddn & 1fob Adgdisw

BwE), 99850

(1) sosw (2) @égma

(3) Eddotc Lﬁﬁsﬁﬁm (4) ddHaos @5:5553{;5.1:
Rough Work
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115. A proton is released from rest at the origin in the presence of uniform electric and magnetic

fields E = E4z and B = Byx. If x(t), y(t), and z(t) are the co-ordinates of the particle at
time ‘t’ then,

(1) z(t)=0 at regular periods with motion restricted to yz-plane

(2) The particle will travel along a circle in yz plane with origin as its center

(3) y(t) <0 at some time ‘t’

(4) The particle undergoes simple harmonic motion

w8 (FErS DE68 Dogd $8050 w08 Feren E = Egz 50050 B = Bk dsogsnes*
Wrodothy) 5§ Vo 28 Hod Idde BoHedSh. 't srodn ¢ ¢ Eadn JrdEre
x(t), y(t) Sobcdan z(t) wond

(1) yz-deord$ DBREPS SoT) L0A, B sidae ¢ z() =0

(2) S50 yz 005*D SwredotePo To@om Ko ol Sygo Bowd Hosrigod
(3) Fod sosdn T 3¢ y(t) <0

(4) ESeodon HEY Tod)l Sodsost Hd ehdod

116. When a | cmthick surface is illuminated with light of wavelength A, the stopping potential
obtained is V. But when the same surface is illuminated by light of wavelength 32, the

V
stopping potential obtained is —6”-. The threshold wavelength for this metal surface is

1 om Hoodsn Mo ¢20derd) N S60rddssn fo 5088 HaAJS0 BobodSYk
bﬁj&?& QG'E FBYDS V), 50 ©F &H8derd) 34 ﬁﬁoﬁ@%m fo 57088° Haddswn

BoBoDSYE VGG FBIKRS %. 8 S'HY Sosn B, ol Sk Pegsn

() 2 T (2) 3%
(3) 4 (4) SA
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117. A nucleus disintegrates into two nuclear parts which have their velocities in the ratio 2:1.
The ratio of their nuclf:ar sizes will be

a8 BoiEsw, 2:1 :amaﬁ‘ Bre EOAS Dok BoldE ermeam JPobidsn [odis.
®wond ¢ Bo|g¥ BoSrere QY

1 1 ! 1
&15/'23:1 2) 1:32 (3) 1:23 Qg} 32:1

118. The driver of an express train suddenly sees the red light signal 50 m ahead and applies the
brakes. If the average deceleration during braking is 10.0 ms™ and the reaction time of the
driver is 0.75 sec, the minimum speed at which the train should be moving so as not to
cross the red signal is !

28 YR oo Tk 85 S 50 m SrES0St WEIET IGY 08 Soiend)
S0, @hw . Bown DHdHHd, Bt Gedibno 10.0 ms™ ook S'E5d
Syodar srodn 0.75 DEden wad, s IHH ;’:uﬁ@@ T8 PFood Pokhobs, Ten
BoSrBouses 3% 54 |

(1) 27Km/hr (2) 115Km/hr
(3) 72 Km/hr (4) 83 Km/hr

119. When a mercury thermometer is inserted in a pot of hot water and the reading is recorded,
what temperature is being recorded,
(1) Average temperature of water and surrounding  *
(2) Average temperature of thermometer -
(3) Average temperature of water and thermometer
(4) Temperature difference between water and surrounding

af PEOD GJSrHEins I8 D Ao HDodd® Swod Eom B Jrd. $ArS
Dohwdd s & od A Srddyed

(1) 5% So0ck0 H0/0"® SKEn BHES
(2) SPSrH80 dNt SYESH

(3) 3% HBasH SPSrITO Dk SAHSD
(4) 8% H0cko HBHoe GAYRSS' BSS0id
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120. A metal jar has a gas of volume 10~>m? at a pressure of 2 x 10° Pa and temperature 400K.
The jar has small hole and hence the gas leaks into atmosphere. The pressure and temperature
of atmosphere is 10°Pa and 300K respectively. If R is the gas constant, the number of
moles of the gas that has leaked into atmosphere is

o€ S5rd 8 1073m? 0shesrasn, 2 x 10° Pa Hhassn Sobasn 400K SR S¢
e ;J"::ﬁm@;ﬁa 504 :.’;-]5_1&. @ 288 fo I/ Gogdn Tgo TNy Tesderas
Ddde (leak) wHs'od. srerSdedn Gy HEIS0 Sobosm Gafiden S8R l{)sPa_
So08ain J00K. R’ 90088 arosn ché;ﬁn wond TaSdndnda’V8 Jdhrdoond Train
BrSeest

1) 3 2 =

5R 6R
3 R (4) 3R
Rough Work
AM 2017 49-A S2




A

CHEMISTRY

121. Which of the following reactions will not produce H, gas
(a) Fe + HCI dil (b) Zn = HCI dil (¢) Cu+ HCI dil (d)Ag - HCl dil

% od Sdgos* O S6y Hay aratogiss Sdvdo Babds
(a) Fe+32e HCl (b)) Zn+%x=e HCI (¢) Cu~Sme HCl  (d) Ag+Sas HCI

(1) acd (2) e d (3) ad (4) bd
122. Qe—24_p_c=N__RMX [y |
H10/H
the products P and Q are respectively
(1) 1°-alcohol and 1" - amine (2) ketoneand 1°- amine
(3) aldehyde and je_ alcohol (4) 2°-alcohol and 1° - amine

Q {"—[ﬂi-R—CEN _R'\Ex.‘_} P
H2O/H

P 3stakas Q Gdaee S0Im

(1) 1" - sy 3¢ Sobatan 19- D05
(2) 8453 Robasn 1°- M5

(3) =8 Sotakw 1° - s, 08
(4) 2°- wen S Sadas: 1°- dBaS

123. The chemical formula of *Feldspar” is
g0 Bug), NI Foe

(1) KMSI;UH {2} Nﬂ]ﬁlFﬁ
(3) NaAlO, (4) K380, Aly(S0y), 24H,0
Rough Work
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124,

An clement with a mass number of 81 contains 31.7% more neutrons as compared 1o
protons. Identify the element

|E3gor2 Dopg 8l Mo o Srefind’ @irSod FSHd SrgerSw 31.7% sssor
fod. Jrosd) MfodSed

(1) Sc (2) Ba

(3) Br (4) 1

&

125.

In which of the following reactions, K is less than K-
& (80b Stgod’, KegoB Kpasy Sm o) So5 287?

(1) NOy, = 2NOy 2 2Hl_ +=H,_  +I_,

(3) 28044, + 0z = 2505, (4) Moy * Oy = 2NO

=)

126.

Which of the following can exhibit geometrical isomerism?
(1) Tetrahedral —[Zn(NH;),Cl, | (2) Squareplanar —[Pr(NH;),Cl, |
(3) Octahedral—[Co(NH;),Cl]" (4) Linear—[Cu(CN), |

& Bob TRS' DD wpdbeD IS HEGOSTOY?

(1) eodd —[Zn(NH;),Ch] (2) Hode Se6E—[Pr(NH;),Ch |
(3) w@sndon -[Co(NH;)CI]™ (4) Bdos -[Cu(CN), ]
Rough Work
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127. The product formed in the following reaction is:

Bod SE5S" IHAS GEyHSn
OH

H(excess)(=2E832) P
Ni, 473K g
Under Pressure
(La= 2%hoe*)

OH 0

(1) (2)

(3) (4) O

128. The order of acidity of following acids is:
& (Bod sireo wlods E300 ¢

O0H ‘00H COOH H

"
NO,
NO,
(i) (i) (iii) (iv)
(1) Hi=iii>iv>i (2) Wi=u=i>iv
(3) iv>iizii=>i - (4) ivEii>i>i

Rough Work
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129. The molarity of a 9.8% [W] of H,50,1s

W
9.8% [W} H,S0, cog), Bverds

i

(1) IM (2) 0.55M (3) 0.1M 4) 1.1M

130. Identify all the compound(s) that are isostructural with CO,

o CO, & 3 Aopmdufe ) Sddsos Hiosed

'{k {?ﬂ:l BeCl, (b) SnCl, (c) XeF, (d) C,H,
(1) ab,¢ (2) ab,d
(3) acd - (4) ab,ed

131. Idenufy the correct order of equivalent conductance at infinite dilution from the given
options

s JobBe ol vl08dd0 5§ dorges Tirsde IS ESr) Rloded
LiCl > NaC] > KCl (2) KCI=>NaCl=> LiCl
(3) NaCl=KCl=LiCl m LiCl> KCl > NaCl

132. Foravan df;r Waal's gas, determine Boyle Temperature
[given a=4.5 atm L’mol™, b= 0.9 L mol~' and R = 0,082 L atm K=" mol ]

il 3 Todl oG rduIN rond ePridd Agonodod

[given a=4.5 atm L’mol 2, b=0.9 L mol ! $5605 R=0.082 Latm K ! mol lm;’:sa;&;ﬁﬁ]

(1) 6098 K (2) 609K
(3) 273K (4) 6098 K
Rough Work o
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133.

Calculate the total energy of one mole of an ideal mono atomic gas at 27°C

(1) 900 Cal (2) 1800 Cal (3) 7482 Cal (4) 0Cal
27° C 34 w8 3rd DESCSrmol wdl) Taing Bk, 3ndo 6D Adesas,
(1) 900 5o (2) 1800 swbe:  (3) 7482 sofen  (4) Oseb

134,

Which of the following c;nmpnund 1s an allylic alcohol?
& Bod Fdo@rres' D8 J805 By FE?

CH=CH - CH, ~ CH, - OH CH,0H

CH = CHCH,

CH=C(CHy), : CH=CHCH,OH
(3) (4)

OH CHy

135.

Under which of the following conditions, a real gas shows maximum deviation from the
ideal behavior

(1) 100°C and 2 atm P } (2) 0°Cand2amPp

(3) -100"Cand5amP (4) 500°C and 5 atm P

& fod ondswdsS Jdudols 20gRed” JuTdnd Bil) SIS Sod A0g Jdwad
SE8y08?

(1) 100° C Ssbcsn 2 wiry P (2) 0°CSobatn 2wy P
(3) -100°C Sodcin 5&&;? (4) Sﬂﬂ"C&Buﬁniﬂb;P
Rough Work
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136. Bhopal gas tragedy was caused by
6 T Ggos 82 SoS 20036
(1) CFC (2) CH;NCO
(3) GHN (4) CHZCN

137. Duralumin is an alloy of

Goreogdss 30 SwE), DEFSH 'S
(1) Al Mgand Ni

(2) Al Cu,Mgand Mn

(3) Al Fe, CaandNi

(4) Al NiandAg

138, Assertion (A) : The conversion of diamond into graphite is an endothermic reaction
Reason(R):  The conversion of diamond into graphite is kinetically very slow
(1) (A)is correct (R) is the correct explanation to (A)

(2) (A)iswrong(R)is right

(3) (A)isrght(R)is wrong

(4) Both(A)and (R)are wrong

IPsER (A):  FRob rRST oY) HEH SPTEE 3¢

sfadw (R): 3ol rasSm 3rdy 2BcH Adzddor Tver 338m S8g
(1) (A) =358 (R) s558 (A) & 535 256w

@) (A) w558 85y (R) 8530 3356

(3) (A) whda 5358 (R) %56 83

(4) (A) Sobakn (R) ssD S35

Rough Work
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139, Calculate the reduction potential at 25° C for Fe**/Fe?” electrode if the concentration
of Fe?* ion is 10 times higher than Fe*~ ion [Given £ pd Jprs =0-TTV]

Fe?” eaies mds Fe'' wasrS €od 10 3t wsomr eddyde, 25°C 3¢ Fe' [Fe®’

Jugh GBug, EabEse R Adedod. [E” pe* e = 0.77 V oS58
(1) 071V (2) 071V
(3) 034V (4) 034V

140. Which of the following ores are concentrated by Froth Flotation
(1) Oxide ores (2) Chloride ores
(3) Sulphide ores (4) Nitride ores

% Bob grébPod’ 38D 555 BEch THe FoBEoRG?
(1) =85 grébPen (2) 584 THIHhw
(3) %ﬁ réades (4) E@_!E FrdaHes

141. The number of atoms in a hep unitcellsis
hep ©5rm 250 (unit cells) &° #o0d SoSrmPe Sopg
(1) 4 (2) 8 (3) 12 (4) 6

142. The Hybridisation of N atom in NO; , NO, and NH, respectively is
NO;, NO, %0csx NH, ©¢' N $65rng ), So8686nsn Skbdm

(1) sp’sp’,sp (2) sp,sp’,sp?
(3) sp.sp’.sp® (4) sp’.sp,sp’
Rough Work
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143. Calculate the reversible potential of oxygen electrode in a solution of pH = 1, when the
partial pressure of O is 102 atm [Assume E¢, ;o =1.23V.vs SHEat | atm and 25° C]
szs 388 L4330 102 am scndPd, pH=1 Eincs' &%), s§28 Jogh auy),
(@), Sdad ¥5) Adodod

[Eg,hy0 = 1:23V.vsSHE25°C So0ct 1 atm3g]
(1) 119V @ L7V (3) 120V (4) 1112V

144, The compounds that are soluble in aqueous NaOH are:

; NaOH zo 3@o0¢* 804 SSydaren -
.Jf' : ttjm' T
(ii) (iii) (iv)
(1) (i), (1) and (iv) (2) (i), (111) and (iv)
(3) (1), (i1) and (1i1) (4) (i1), (1i1) and (iv)

145. The mass and charge of one mole of electrons, respectively is
(1) 54.8=107Kg;9.65 x 10* Coulomb
(2) 5.48 x 107 Kg; 9.65 x 10* Coulomb
(3) 548107 g;9.65 = 10* Coulomb
(4) 548 x 1077 Kg; 9.65 x 10* Coulomb

uf S Joglo Gigore Sodahs BIFdN SHIM
(1) 548x 107 Kg;9.65 x 10° re5y)

(2) 5.48 %1077 Kg;9.65 x 10* fre5y

(3) 548 %107 g;9.65 x 10° Sredy

(4) 5.48x 107" Kg;9.65 x 10% ér05y

(e

Rough Work
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146. 4CI0;(gq) — 3C10 (49 + Cly,,; is an example of

(1) Oxidation reaction (2) Reduction reaction
(3) Decomposition reaction (4) Disproportionation reaction
4CI0; (ye) <> 3CI0 ey + Cly,,y =38 A28 ST ERSD?
(1) whgde Sog (2) EchHEse o3
(3) dwLS S65 (4) sSsdd S8
147. Actinides have higher tendency to form complexes than Lanthanides, due to
(1) higher charge and smaller size (2) smaller charge and larger size
(3) they are radioactive (4) they are electropositive

Codpbo Eob i3S dogos J60H Sogssnds edsom §0A Gokis. Jodkgsm
(1) =258 wIdsn Sodokn soy H0Srodn

(2) ®o) ¥ 0ok w68 J65reSn

(3) =2 3arpros .:'m-q;m

(4) =2 G& QepTrdE Sorgen

[48. Which of the following statements is true about a catalyst
(1) Itaccelerates reaction by decreasing the free energy of activation
(2) Irwill be consumed in the reaction
(3) It makes the reaction feasible by making AG® more negative

(4) Tt makes the equilibrium constant of the reaction more favorable for the forward
reaction

a@)0Eo HBod & od TS B3I Tgpy NB?

(1) odag 'f:ﬁu:g ¥532 dhod Sdgido dn3ado dﬁﬂo&

(2) =8 S6ge* DA@rro Dodsdrod

(3) AG® JwaSio J8y,8 awerd o Ih Sdg 266r28 Sirdo Wigod

(4) o6 S8y REErRd RoUOER) YU Sdgk Q63,8 edsrvor rdhiesd

Rough Work
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149.

An alkene that provides only Butanone-Z on ozonolysis is

(1) 3,4-dimethylhex -3 - ene (2) 2.3-dimethylhex-2-ene
(3) 3 -methylhex - 3 - ene (4) 2,3-dimethylpent -2 - ene
LE'TONS oo wphdN-2% SrEd o) S

() 3.4-agSorf-3-&3 (2) 2,3-32385TH-2-83

(3) 3-235TH-3-&5 (4) 2,3-2BSuol-2-&5

150.

How much PCl; must be added to a one litre vessel kept at 250° C in order to obtain
0.1 mole of Cl, gas [K¢ for PCIs{H, = P“.':Il(gll +E13m is 0.0414 mol/L]

(1) 0.0341 mole (2) 0341 mole  (3) 0241 mole  (4) 0.024 mole

0.1 3»& Cl, Tadns Sodbl 250° C 58 o) of dbd @k Jod H0Sremda
PClg SessSecni? [ PCls . = PCly o +Cly )3 Ke=0.0414 376/0]

(1) 0.0341 & (2) 0341205 (3) 0241 3»& (4) 0.024 2=S

151.

Which of the following is true with regards to nucleosides

(1) Nucleoside is formed from Nitrogen base ~ sugar

(2) Nucleoside is formed from Nitrogen base ~ sugar + phosphoric acid

(3) Nucleoside is formed only from Nitrogen base

(4) Nucleoside is formed from Nitrogen base ~ amino acid

Srgidrpioh Jomedodlod J6K & (Bod TRS* $BSH I6?

(1) JS'as godn + g5, do ol SrgS@Er el Do dodiod

(2) S'=s géds + IF0 + FambE sdzo ol Srgarnd aSdadsod
(3) F'=l pose &od SrEdh Srgidrpb Jdyddiod

(4) PE'=S posw - shd siye Sod Srgbdrpl JHdidod

Rough Work
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152,100 ml of KMnQy solution is exactly reduced by 100 ml of 0.5M oxalic acid under acidic
condition. The Molarity of KMnO, solution is

s SSses’ 100 ml 0,5M ud§ s, 100 ml KMnOy ESardy o Echidmo
~oBolas. KMnOy oSey 3rodd

(1) 0.1M (2) 02M

(3) 0.05M (4) 05M

I53. The halflife of a I* order reaction is | min 40 seconds, Calculate its rate constant
w6 PO% ESros dorg egraihy | A 40 DESe. ard B Roos Ry S oded.
(1) 6.9 % 10-3 min-! (2) 69x1035!
(3) ﬁ.‘} X 10-3s (4) 100s

154. Tubeless ryres are co-polymers of isoprene and

(1) Neoprene : (2) Silicons

(3) Isobutylene (4) PAN

LorgOh Blew oS Hobosn T2 ), 33 wamufossne: (co-polymers)
(1) 2Br®S (2) 5085

(3) =RF=ss (4) PAN

155. Calculate the wave number of the highest energy transition in the Balmer series of Hydrogen
atom [Ry; = 109678 em™]

TFES S0Srand ol @FSS'D «8E ¥4 S0355S'N ddod Sopgd 88,0508,
I.R-H= 109678 cm"]

(1) 27419.5 cm™! (2) 2741.95 cm™!
(3) 274.195 cm! (4) 274195.1 em!
Rough Work
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156. Consider that the following reaction proceeds via a Carbocation intermediate to give the

product

& Bob dﬁs E*Ehré.mﬁrﬁ :S:rdsé ‘.':n‘gﬁnl’ﬁau‘ 200 ﬁéﬂ@_ hd_)d::&l.lnda graodod.

T g SR

ﬁEDDC

Which of the following energy profiles best represents the overall reaction?
& (Bod 4§ T4y DEred’ I8 Ff Iogh oM ArdYed

ES -r.

O w0l N\ @ wl -/ \_

»

RC RC

(3) (4)

L
-

RC RC

Rough Work
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157 Statement- 1 - Acetone = Carbon disulphide solution shows positive deviation from Raoult’s law

Statement - 2 : Acetone ~ Aniline solution shows positive deviation from Raoult’s law

(1) Both statement -1 and statement - 2 are correct
(2) Bothstatement -1 and statement - 2 arc wrong
(3) Statement -1 is correct and statement - 2 is wrong

(4) Statement -1 is wrong and statement - 2 1s correct

Sy RS - PGS gag:,& Eonsn TE Jdchdsn Sed gard)s ST
WE8S08

Tywg 21 E'S - 2205 Erdesdn T¢ dahSodw Hod fad)E DT PO0Reb

(1) argpg -1 S0cEn argwg - 2 dods SBS5D

(2) agwg -1 So0adx g - 2Dodr 433

(3) agwg -l ABSE A Fgwg - 2 833

(4) apwg -1 d3y R Tgwy - 2 9280

158. The reactivity order of below compounds with KI in acetone is:
Klacctone &' Bob Sidoe dogio B0

Cl
Cl

(1) (i1) (iii) (iv)
(1) wm=iv=iu=>1i (2) iiziit>iv>i
(3) iv=ii=iii>i (4) w=ii>n>1
Rough Work
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159.

Artificial sweetenmg agent is prepared from the below strategy. Identifyv the structure of
final product

& (Bob Yo Sod Y85 &L s Esind dar . vosy ddyho Qe o
ﬁ:g_u:ﬂuﬁ

1. NHy
T
2 xuno_,

0 4]
(1) NH (2) NH
5
7% I
U{\Effi}
(3) O \i (4) 'y
g 5)’”‘“
0"// %ca u{/ \\Q"n

160.

An isotonic solution will produee an osmotic pressure of 10,00 atm measured against pure
water at 37 °C. How many grums of NaCl must be dissolved in one litre of water to produce
an ismnnic solution

37 °C 3§ B¢ 8" of SNdogdol ESesn 10.00 atm Eo§icde Laxd
& Hdn H5g0b. I[ETOI0E |TEwe IGHELrIE OT) rine NaCl & o8 dLd
A4S g8hoad

(1) 1l46¢ (2) 0.196¢ (3) 9.0lg (4) 10g

AM2m7 63 -A [Sz
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